
 

ОГЭ 2020.  Тренировочный вариант № 31. Ответы 
 

Задание 1 2 3 4 5 

ответ 780 41,67 7,7 489,6 1188 
 

Задание 6 7 8 9 10 11 12 13 14 15 

ответ 4,5 3 53 1,5 0,25 213 −3  −1,75  700 4 
 

Задание 16 17 18 19 20 

ответ −0,2  420 9 6 12 
 

Задание 21 22 23 24 25 26 

ответ  −   4; 3; 10  864  (0; 16)  60°;120°; 60°;120° −  75 3  

 

 

 

ОГЭ 2020.  Тренировочный вариант № 32. Ответы 
 

Задание 1 2 3 4 5 

ответ 1750 29,17 4 1285,2 2436 
 

Задание 6 7 8 9 10 11 12 13 14 15 

ответ 4,9 4 44 0,5 0,75 231 −2  −24,5  4000 2 
 

Задание 16 17 18 19 20 

ответ 0,125 550 13 2 23 
 

Задание 21 22 23 24 25 26 

ответ  − − −  11; 6; 1  900  (0; 9)  60°;120°; 60°;120° −  108 3  

 
 

 

 

 


